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SSC CHSL (10+2) 2022

* A clock gains 5 minutes in one hour and the clock was set at the correct time at 3
8 am. What time will the clock show at 8 pm on the same day?

* T BT U HS H 5 fHe o1 It © 3TN §Ig 8 a11 HIS] o0l 3ieh 69 T He foralt 71T
1| St 15 Tt 8 o1t Brgt o wwre feamarT?

A.8:20 THT
B.8:15 T
C.8:30 THAT




SSC CHSL (10+2) 2022

* How many triangles are there in the given figure?

o 1 7TS AR H fehd FI &2

1/ \

A.29
B.41
C.40
D.42
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* The reflex angle between the hands of a clock at 10.25 1s:

® 10.25 UK T ST ol GFAT o 1<l e shivl &:

N\

[o.2 S\/
S S A. 180°
2o O N\ R B.192 1\2°
\ C? : 5 U \\'So —+ 12 -S C.195°
S




SSC CHSL (10+2) 2022
® Vikas takes 15 seconds to stand up from the ground and 11 seconds to sit on the
ground. He continues this process for some time. How many times will he stand

up 1n 93 seconds? SSC CGL (Tier-I)

o TIohTE ST U ISR @S B H 15 UohUS X THIF G S3T | 11 TehUS hl G0 AT
2| I 39 IRAT hl & THA qeh STRT @1 8l 93 HehUe H 8 fehdT o) @l BT

A.4
"B
C.6

D.5




SSC CHSL (10+2) 2022

® Vandana 1s the only sister of Ankush. Gopal is the brother of Ankush's wife
Vineeta. Swati 1s the only niece of Vandana. How 1s Swati related to Gopal?

 SGHT, JHEHIT Al FhTITdT Se &l STHIT ol TeriT T, ST TS U1 &1 T, &1 b
THHTS WISt 21 SIfd, Tl & e Heiferd 27

lA.wrsﬁ’ X
B.dgd
C. reerga-d

D. frifa 7t foram < gehrar @

O
G,




SSC CHSL (10+2) 2022

* Arrange the given words 1n their dictionary order.

ﬁqwﬁ Sl 3Teh IT6GhINT ShH T ST shiferd|
° 1. sdhtude
e snﬁphﬁed
\&
* 3. séund

%

* 4. sfghature
\‘t

* 5. snake




SSC CHSL (10+2) 2022

* Select the number that 1s related to the third term in the same way as the second
term 1s related to the first term.

* 3T TEAT T T ! ST e U ¥ 3T Jh K Gefd & S HU e Jet IS ¥ 9o fYd
H

©®35:6::63:7

(2 = ¢~ A.5
3% B3 |

C.4
D.12




SSC CHSL (10+2) 2022

* A person walks 20 km towards east. He takes a left turn and walks another 20
km. He again takes a right turn and walks 20 km. Finally he takes a right turn
and walks 20 km. What is the distance between the starting point and the

ending point?

® Teh itk qdl h! A 20 fehHT =IeTdT 81 =78 T HSdl%Mﬁk HEH

REE ar&nw%aﬁtzo%ﬁawél 37 o 9% 1 HEAT © 3R 20 TR H

i foig udl 3ifem fig sl Al g fohe 182 | e Dokm A.4 km

— C. 80 km

\ /" QQiEHT"o ms D. 60 km




SSC CHSL (10+2) 2022

®* [f BANK is coded as 32 and BRAKE 1s coded as 42, then how will CLEVER

be coded as? )
* afd BANK T 32 3 BRAKE shr 423 &9 H shesie, fohar ST e, ?ﬁ}iL}E\;E}%@

Y g [T JTE?
& 28l 24\ S CS*(:@
211419411 A 66
—
B. 68
Sy, C.75

~o



SSC CHSL (10+2) 2022

* Six persons A, B, C, D, E and F are sitting in a row facing the north but not
necessarily in the same order. C sits third to the left of F. The number of
persons to the left of B 1s same as the number of persons to the right of D. One
person sits between A and C. D sits second to the right of A. B 1s to the right of

C, then how many persons sit between B and D?

* BE AN A, B, C, D, E 3R F 3T o YHE T Ufth U oI3 & qifeht Sl 21 foh of
3T 7 H Bl C, F o SITU oL T 9 2 B%aﬁ’aﬂtwﬁﬁﬁaﬁﬁw Déaa’ré‘
ST SAfHAT shl HEAT o FHH 8] A 3T C o sfi<l Tk Afh SI3T 81 D, A o <T¢ THL
T q{ola%lB COhdlk% d|B3ﬁTDoh®||c| fohd-l SIfth S 87 A.4

D (O




SSC CHSL (10+2) 2022

® Statement:

* No restaurant is shop./®g Tl 3R &l 2l

- ~ .
e ATl shops are schools./&¥T GohT- e I
* All parks are shops./&@4t qTeh gohﬁ 2l

® Conclusion: B\

* 1. Some schools are parks./s et qTeh %I\/

* II. Some parks are restaurants,/5 qTeh L& %IK
oY P
® III. Some shops are parks./%s gohH qTeh %I

————
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* Select the odd letters from the given alternatives.

* [AU T forehedi § & oA 378 ! Y
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* In the following question, one term in the number series 1s wrong. Find out the

wrong term.

o fmaferiiaa T3 H, T e ¥ U g Tetd 81 Tetd g Jd hiiNg

*1,3,7,15,31(6 ="\

[x24+1= 3 -
3IX24 1= > >




SSC CHSL (10+2) 2022

Wa

®* In the following letter series, some letters are missing which are given in the
same order as one of the alternatives given below it. Select the correct option.

o HITRE TR ST H, e &AW & ST SHT shH H 38k i< fa T faeshedl § &
Ueh o ®9 H QU 7T 8| Tl faehed T =9+ shifsu|

° Laﬂ‘?mrﬁﬁ(ibaxbajbba A.aaabb

B. ababb
g. oF:10:10)

1D babba




SSC CHSL (10+2) 2022

* [f 'Z' stands for 'Addition’, 'X' stands for 'Multiplication', 'Y' stands for
'Division’, and 'W' stands for 'Subtraction', then what will be the value of the
following equation?

* i< 17! 1 Y SIS 7, X' 1 3 UM 7, 'Y T 3T "TAWISH' &, 3 'W' h1 T
e 2, dt Feaferfaa gertor o1 = s g
* 15Y(11Z4)Z3X4(19Z3)Y 11 X3 (3Z2)

A.405
=18 36]
C.40

D.390




SSC CHSL (10+2) 2022

* Pointing to a lady, a man said, "She is the mother of the only sister of my

sister's father." How 1s woman related to man?

* Ush HieT shi 371 I 3hLd BU, Ueh SATGHI o e, "oT8 HiT sTe o fUaT shi Thur
SEAFT AT | H, wﬁ%@wﬁm%‘? :
g A.Grandson

_B. Mother
C. Grandma
D. Aunt




SSC CHSL (10+2) 2022

® Find the value of question mark.

o 757 g T {1 hiTSTT)

‘\iziyé A.987

& C. 1290

IQH D.1159
(4

RS
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® Find the value of question mark.

o 757 g T {1 hiTSTT)

A.10

C.22
D.110




&)

SSC CHSL (10+2) 2022

® Find the number of triangles in the figure.

® STShid H VST shl HEAT JTd hifsTy)

A.20
B. 24
C.28
D.32
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* The running speed of A 1s faster than B but less than that of C. The speed of C
1s less than that of D. Who is the fastest runner among them?

* Al dle 1 Tfd B | a1 ®, 9 C ol &A1 H hH| C 31 7T D | ¥ 8| $TH g8
AT YTeloh hiv 27

A.D
B.A
C.B
D.C




